4 2/00:- 181 13-17: 10-2-2020 当日也, कार्मपालक अभियेता , जा. मा. चिर, माम ममेडल; 95×11-2 HAI! H 314/711 31/Andi 211-41-14; And mo-101; A44':-वर्ष- २०११ में वा ए अतिश्रम् में मिरास्य पर्या/प्रके में कीश्य गर नेपर म्यातम कार्य के श्वीकाल त्रेया भा मान्यान & HIGHT 4401:-3114 pr 4594. 306 Ago Ao-04-02-2020, HEINX' 34 में रेस नामाम मा भा भा भागम में काहना है कि वर्त-2019 में जारें में भीम मा तम मा त्रामिस तम दाया मांट रत्त त्रिक्त, अत्मावल भरान् मा निर्धा प्रता मा अंति अभ मिटा में आजमा में नामिता के त्यांना आमा जाता है। पुरुष्ट में आजमा में नामिता के त्यांना सम्मेशन में मार्थ तामकार 8170- TO-1 \$144 C A 31+41-421 AZAIH MIDS

The copy the off

कार्यपालक अभियन्ता ज्ञानीण कार्यायभाग कार्यप्रमुख्त, दरमंगा-2

#### ABSTRACT OF COST

### Name of Work-T04 Bairampur to Amba

S.I.	Name of Item	quantity	Unit	Date	Amount
No.	Cutting	6			(R.s)
SOR NO.	Earth work in witting and making slope in all kind of soil with all lead and lifts as per specification and direction of E/I.	225 m <sup>3</sup> 105 m <sup>2</sup>	per m <sup>3</sup>	99.60	22410.00, 10,458 Bb Li 9-2-8
WRD SOR NO.	Labour for witting 62mm to 75 mm dia bamboo piles to size and making shoes and driving etc. complete job as per specification and direction of E/I.	909 m	per m	42.00	38178.00
WRD SOR NO.	Lab out for witting and fixing 62 mm to 75 mm dia bamboo runner in with 150 mm long nails or 38 swg G.I. wire including cost of G.I. wire or nails complete job as per specification and direction of E/I.	432 m	per m	5.20	2246.40
	Supply of Bamboo including 3.0 km carriage (Katella) by tractor	274 No.	each .	171.00	46854.00
OR O7.52	Supply of New bag and N.C. with labour for filling new E.C. bags with local sand (Volume of filled bags 1.20 cft are weight 50 kg) stitching on two line by approved nylon thread with stitching machine & generator stacking the bags and placing in Nylon crate	180 Nos	each	1378.30	248094.00

# Scanned with CamScanner

in co	of size (1m x 1m x 1m) with a lead of 150 m neluding supply of Nylon thread etc. all complemented as per approved design pecification and direction of E/I.				
o no fi st st st st st st st st	upply of New bags with labour for filling ow E.C. bags with local sand (Volume of illed bag 1.20 cft. and weight 50 kg) titching on two lines by approved nylon hread with stitching machine & generator tacking the bags and placing with lead of 50 m including supply of Nylon thread etc. Il complete as approved design, pecification and direction of E/I including arriage cf local sand/sandy soil by tractor om lead 3.0 km katcha	900 Nos	per %	4392.70	39534.30
be b	roviding, laying & filling geo bag of size m x 0.70 m (type A 300 G.S.M. Nos roven) weight 420 gram, volume of filled ag 0.07 cum, weight of filled geo bag 126 g, with local sand including stitching in pur lines by approved nylon thread with litching machine & generator stacking and lacing after loading unloading and carriage in the help of trolley with 150 m lead led loading cess. All complete as approved, esign, specification and direction of E/I led loading carriage of local sand/sandy soil y tractor from lead 3.0 km.	1952 Nos	each	185.00	361120.00

## Scanned with CamScanner

8.0 km Carriage (1 km katcha) by tractor		per m <sup>3</sup>	1814.25	27213.75
or all currings (Tall lanches) of marries			Total	743,698
	Add G.S.T.	12%		94278.05
	Add lebour cess 1%			92,843.7 7856.50 7,736.9
	Add C.N.C 1%			7856.50 71736.0
	10% seignior age			4542.60
	fr	ee		
			Total	900184.10
सहायक अभियता महायक अभियता ग्रामीण कार्य विभा कार्य अवर प्रमंडल वि	ग शेल R.T	nel o Voca	ngineer	8,232 Bilm 0-2-202

## Scanned with CamScanner